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1 = goo E 200,000
2 = O00O0Oe OO E 75,000
3 = goo E 50,000
4 ("] goo E 40,000
) = goo E 32,500
T6 = g E 28,000
T6 = goo E 28,000
T8 = goo E 25,500
T8 = goo E 25,500
T10 = goo E 23,500
T10 = goo E 23,500
T12 = oogno E 20,100
T12 = goo E 20,100
T12 = goo E 20,100
T12 = goo E 20,100
T16 = goo E 16,750
T16 = goo E 16,750
T16 = goo E 16,750
T16 = goo E 16,750
T16 = goo E 16,750
T16 = goo E 16,750
T22 = goo E 14,080
T22 = goo E 14,080
T22 = goo E 14,080
T22 = goo E 14,080
T22 = goo E 14,080
T27 = goo E 12,800
T27 = goo E 12,800
T29 = g E 12,000
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goo
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goo

goo

goo

goo

goo

goo

12,000
12,000
12,000
12,000
10,900
10,900
10,900
10,900

10,900
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